

## Imperial College Union Finance, Audit & Risk / 26 June 2024

## CSP Grant Allocations for 2024/25 – Appendix 1

Per-CSP Breakdown

CSP	23/24 Allocation	24/25 Grant Requested	24/25 Provisional Allocation	Percent change	Number of Student Members	Subsidy per member	Current Membership Cost
AED Argentine Tango (428)	£0.00	£146.67	£0.00		76	£0.00	£0.00
AED Dance (108)	£12,472.70	£15,868.80	£11,142.80	-11%	222	£50.19	£20.00
AED Dance Company (759)	£3,375.59	£5,336.32	£3,568.36	6%	84	£42.48	£15.00
AED Funkology (680)	£819.37	£3,820.00	£1,705.45	108%	115	£14.83	£8.00
AED K Pop (426)	£740.16	£962.50	£675.86	-9%	110	£6.14	£5.00
AEE Comedy Society (424)	£0.00	£100.00	£0.00		73	£0.00	£0.00
AEE Dramatic Society (406)	£0.00	£1,225.00	£732.02		82	£8.93	£10.00
AEE ICU Cinema (411)	£452.78	£820.99	£342.52	-24%	58	£5.91	£5.00
AEE Live Music (413)	£230.80	£2,600.00	£842.62	265%	279	£3.02	£5.00
AEE Musical Theatre (415)	£1,478.57	£2,199.52	£1,312.80	-11%	64	£20.51	£15.00
AEF Art Club (405)	£0.00	£800.00	£561.75		175	£3.21	£8.00
AEF Fashion and Design (146)	£0.00	£270.00	£0.00		104	£0.00	£3.00
AEF Media Photographic (118)	£421.47	£1,199.93	£783.94	86%	122	£6.43	£5.00
AEME DJ & Production (414)	£197.35	£229.17	£160.92	-18%	91	£1.77	£15.00
AEME IC Radio (383)	£278.77	£289.17	£0.00	-100%	77	£0.00	£12.00
AEMU A Cappella (421)	£1,069.30	£1,400.00	£841.56	-21%	71	£11.85	£10.00
AEMU Chamber Choir (423)	£1,083.76	£1,815.00	£1,274.47	18%	29	£43.95	£25.00
AEMU Chamber Music (412)	£449.56	£555.00	£359.53	-20%	88	£4.09	£5.00
AEMU Choir (403)	£1,926.68	£4,496.90	£2,980.67	55%	93	£32.05	£25.00
AEMU Gospel Choir (418)	£240.84	£480.00	£0.00	-100%	34	£0.00	£6.00
AEMU IC Big Band & Jazz (408)	£1,164.04	£1,482.00	£1,040.63	-11%	26	£40.02	£30.00
AEMU Orchestra (401)	£2,406.74	£4,892.00	£3,272.31	36%	73	£44.83	£35.00
AEMU Sinfonietta (402)	£2,809.51	£3,499.70	£2,422.27	-14%	71	£34.12	£25.00
AEMU String Ensemble (417)	£0.00	£600.00	£421.31		20	£21.07	£15.00
AEMU Wind Band (419)	£1,665.78	£2,999.95	£1,853.73	11%	68	£27.26	£20.00
CFCH RAG (757)	£0.00	£500.00	£0.00		194	£0.00	£0.00

CFCO Bike Users Group (754)	£0.00	£833.33	£0.00		99	£0.00	£0.00
CFCO Erasmus (230)	£0.00	£700.00	£0.00		179	£0.00	£0.00
CFCO IQ (Imperial College LGBT+)	00.00	0550.00	0407.40		450	00.00	04.00
(239)	£0.00	£556.93	£137.16		153	£0.90	£4.00
CFF Ahlul Bayt (204)	£0.00	£745.00	£0.00		34	£0.00	£0.00
CFF Catholic (221)	£0.00	£395.50	£203.62		28	£7.27	£6.00
CFF Christian Union (222)	£210.05	£580.40	£0.00	-100%	59	£0.00	£7.00
CFF Hindu Society (235)	£966.57	£2,288.36	£671.44	-31%	444	£1.51	£4.00
CFF Krishna Consciousness (450)	£0.00	£14.00	£0.00		21	£0.00	£3.00
CFF SCC Islamic (248)	£0.00	£612.00	£0.00		341	£0.00	£0.00
CFI E.quinox (624)	£0.00	£1,016.67	£0.00		21	£0.00	£4.00
CFI Project Nepal (772)	£0.00	£3,040.00	£112.35		19	£5.91	£4.00
CGCU Bio Engineering (608)	£0.00	£4,483.34	£0.00		36	£0.00	£3.00
CGCU Chem Eng (602)	£743.08	£5,143.75	£0.00	-100%	74	£0.00	£0.00
CGCU Civil Eng (604)	£308.83	£2,400.00	£0.00	-100%	34	£0.00	£0.00
CGCU Design Engineering (607)	£0.00	£1,552.31	£0.00		130	£0.00	£0.00
CGCU Drone (179)	£0.00	£957.99	£140.19		37	£3.79	£5.00
CGCU Elec Eng (603)	£0.00	£2,083.33	£0.00		71	£0.00	£0.00
CGCU Motor Club (611)	£5,256.83	£9,595.42	£6,587.71	25%	72	£91.50	£45.00
CGCU Racing (612)	£1,317.82	£2,337.05	£0.00	-100%	130	£0.00	£6.00
CGCU Rail and Transport Society	6040.40	0705 55	C4.04.04	070/	40	60.40	05.00
(282)	£310.48	£725.55	£101.81	-67%	48	£2.12	£5.00
CGCU Robotics (625)	£782.71	£2,291.67	00.03	-100%	424	0.00£	£5.00
CGCU Space Society (629)	£0.00	£2,395.50	£1,313.98		118	£11.14	£5.00
CTA Bangladeshi (303)	£0.00	£491.66	£105.33		98	£1.07	£3.00
CTA CSSA (305)	£0.00	£1,375.00	£0.00		1075	£0.00	£0.00
CTA Filipino (357)	£0.00	£150.00	£63.20		56	£1.13	£4.00
CTA Indian (309)	£0.00	£2,204.99	£0.00		416	£0.00	£5.00
CTA Malaysian (315)	£802.78	£7,893.75	£0.00	-100%	347	£0.00	£5.00
CTA Pakistan (317)	£0.00	£2,099.82	£0.00		177	£0.00	£4.00
CTA Singapore (319)	£963.34	£2,416.67	£449.40	-53%	233	£1.93	£5.00
CTA Sri-Lankan (321)	£0.00	£1,906.11	£0.00		22	£0.00	£5.00
CTA Turkish (324)	£0.00	£579.39	£0.00		70	£0.00	£3.00

CTM Arabic (302)	£0.00	£1,366.67	£503.23		176	£2.86	£0.00
CTM Somali (361)	£0.00	£150.01	£0.00		50	£0.00	£0.00
CTN Afro-Caribbean (301)	£0.00	£3,180.85	£0.00		183	£0.00	£7.00
CTN Bulgarian (345)	£0.00	£665.85	£0.00		45	£0.00	£0.00
CTN Cypriot (306)	£0.00	£347.92	£0.00		96	£0.00	£0.00
CTN Czech & Slovak (338)	£0.00	£300.00	£0.00		21	£0.00	£5.00
CTN French (307)	£0.00	£148.50	£0.00		112	£0.00	£4.00
CTN Irish (327)	£0.00	£1,407.50	£140.44		91	£1.54	£0.00
CTN Polish (334)	£0.00	£100.00	£0.00		103	£0.00	£0.00
CTN Portuguese Speaking (333)	£0.00	£165.00	£0.00		21	£0.00	£3.00
CTN Romanian (343)	£0.00	£50.83	£0.00		51	£0.00	£0.00
CTN Spanish (320)	£0.00	£260.00	£0.00		208	£0.00	£0.00
CTN Swiss (354)	£0.00	£275.00	£0.00		74	£0.00	£0.00
ICSMSU Acute Care Specialities (740)	£0.00	£239.31	£168.05		64	£2.63	£3.00
ICSMSU Asian Medical Students' Association (729)	£280.97	£374.08	£240.73	-14%	55	£4.38	£5.00
ICSMSU Badminton (658)	£2,992.42	£3,426.45	£2,406.03	-20%	165	£14.58	£35.00
ICSMSU BioMed Society (726)	£541.88	£2,406.25	£438.86	-19%	52	£8.44	£0.00
ICSMSU Boat (660)	£6,234.84	£7,308.00	£5,131.55	-18%	98	£52.36	£30.00
ICSMSU Cardiovascular (742)	£71.91	£360.00	£252.79	252%	103	£2.45	£3.00
ICSMSU Coding Society (747)	£0.00	£306.57	£149.00		196	£0.76	£2.00
ICSMSU Cricket (661)	£4,258.07	£6,488.45	£2,871.62	-33%	38	£75.57	£65.00
ICSMSU Dance (706)	£960.09	£2,097.08	£1,472.53	53%	60	£24.54	£15.00
ICSMSU Drama (678)	£826.85	£1,400.00	£983.04	19%	72	£13.65	£10.00
ICSMSU Football (656)	£3,530.75	£11,111.27	£7,401.33	110%	76	£97.39	£60.00
ICSMSU Golf (663)	£0.00	£4,125.00	£561.75		51	£11.01	£0.00
ICSMSU Hockey (664)	£4,855.33	£5,935.93	£3,709.77	-24%	42	£88.33	£40.00
ICSMSU Immunology (735)	£0.00	£240.10	£95.01		301	£0.32	£0.00
ICSMSU Jiu Jitsu (Aiuchi) (665)	£722.51	£165.60	£116.28	-84%	26	£4.47	£15.00
ICSMSU Lacrosse (668)	£4,750.88	£4,301.15	£2,917.09	-39%	50	£58.34	£20.00
ICSMSU Light Opera (688)	£2,504.40	£2,469.80	£1,734.26	-31%	81	£21.41	£15.00
ICSMSU Medical Education (711)	£889.82	£1,045.02	£657.75	-26%	31	£21.22	£0.00

ICSMSU Medical Humanities (268)								
ICSMSU Muslic (679)	dical Humanities (268)	£0.00	£149.58	£105.03		96	£1.09	£0.00
ICSMSU Muslim Medics (687)   £209.06   £594.08   £366.58   75%   188   £1.95     ICSMSU Netball (670)   £5,263.37   £6,902.44   £4,846.78   -8%   81   £59.84     ICSMSU Neuro (720)   £0.00   £301.88   £163.85   163   £1.01     ICSMSU Neuro (720)   £313.09   £327.55   £177.34   -43%   63   £2.81     ICSMSU Paediatrics (716)   £538.67   £741.78   £240.75   -55%   207   £1.16     ICSMSU Paediatrics (776)   £538.67   £741.78   £240.75   -55%   207   £1.16     ICSMSU Pre-Hospital Emergency (749)   £642.21   £986.67   £289.07   -55%   121   £2.39     ICSMSU Pre-Hospital Emergency Medicine (744)   £99.55   £240.00   £168.53   68%   40   £4.21     ICSMSU Ruby (671)   £5,515.50   £10,043.73   £4,936.78   -10%   57   £86.61     ICSMSU SEM Soc (739)   £0.00   £260.00   £143.35   140   £1.02     ICSMSU Surgical Soc (699)   £1,037.38   £1,555.52   £954.55   -8%   397   £2.40     ICSMSU Tendis (669)   £4,234.99   £5,720.50   £4,016.85   -5%   86   £46.71     ICSMSU Tennis (669)   £4,234.99   £5,720.50   £4,016.85   -5%   86   £46.71     ICSMSU Water Polo (676)   £3,972.51   £5,439.98   £3,819.88   -4%   75   £50.93     ICSMSU Womens Football (657)   £858.98   £1,539.00   £1,080.67   26%   25   £43.23     ICSMSU Womens Football (657)   £858.98   £1,539.00   £1,080.67   26%   25   £43.23     ICSMSU Womens Football (657)   £858.98   £1,539.00   £1,080.67   26%   25   £43.23     ICSMSU Womens Flockey (666)   £5,510.3   £473.04   £332.16   -40%   26   £12.78     KNC Bioscience Review (489)   £0.00   £3,333.33   £0.00   636   £0.00     KNC Imperial Blockchain (488)   £0.00   £3,337.97   £0.00   £0.00   £0.00   £0.00     KNC Momen in Business (786)   £0.00   £150.00   £0.00   £0.00   £0.00   £0.00   £0.00	dTech (703)	£0.00	£202.92	£0.00		126	£0.00	£3.00
ICSMSU Neuro (720)	sic (679)	£1,985.34	£2,808.95	£1,409.63	-29%	134	£10.52	£22.00
ICSMSU Neuro (720)   £0.00   £301.88   £163.85   163   £1.01     ICSMSU Obstetrics & Gynaecology (712)   £313.09   £327.55   £177.34   -43%   63   £2.81     ICSMSU Paediatrics (716)   £538.67   £741.78   £240.75   -55%   207   £1.16     ICSMSU Plastic Surgery (749)   £642.21   £986.67   £289.07   -55%   121   £2.39     ICSMSU Pre-Hospital Emergency (749)   £642.21   £986.67   £289.07   -55%   121   £2.39     ICSMSU Pre-Hospital Emergency (744)   £99.55   £240.00   £168.53   69%   40   £4.21     ICSMSU Rugby (671)   £5,515.50   £10,043.73   £4,936.78   -10%   57   £86.61     ICSMSU SEM Soc (739)   £0.00   £260.00   £143.35   140   £1.02     ICSMSU SEM Soc (739)   £0.00   £1,597.91   £1,122.03   24   £46.75     ICSMSU Surgical Soc (699)   £1,037.38   £1,555.52   £954.55   -8%   397   £2.40     ICSMSU TeddyBear Hospital (737)   £415.47   £686.62   £171.90   -59%   90   £1.91     ICSMSU Tennis (669)   £4,234.99   £5,720.50   £4,016.85   -5%   86   £46.71     ICSMSU Water Polo (676)   £3,972.51   £5,439.98   £3,819.88   -4%   75   £50.93     ICSMSU Water Polo (676)   £3,972.51   £5,439.98   £3,819.88   -4%   75   £50.93     ICSMSU Womens Football (657)   £858.98   £1,539.00   £1,080.67   26%   25   £43.23     ICSMSU Womens Football (657)   £858.98   £1,539.00   £1,080.67   26%   25   £43.23     ICSMSU Womens Footkey (666)   £3,903.32   £5,208.51   £3,576.87   -8%   56   £63.87     ICSMSU Yoga (686)   £551.03   £473.04   £332.16   -40%   26   £12.78     KNC Bioscience Review (489)   £0.00   £1,082.16   £0.00   £0.00     KNC Imperial Entrepreneurs (228)   £0.00   £2,000.00   £0.00   £0.00   636   £0.00     KNC Imperial Entrepreneurs (228)   £0.00   £2,000.00   £0.00   £0.00   563   £0.00     KNC Momen in Business (786)   £0.00   £150.00   £150.00   £0.00   563   £0.00	slim Medics (687)	£209.06	£594.08	£366.58	75%	188	£1.95	£3.00
CSMSU Obstetrics & Gynaecology (712)	ball (670)	£5,263.37	£6,902.44	£4,846.78	-8%	81	£59.84	£60.00
Common   C	, ,	£0.00	£301.88	£163.85		163	£1.01	£3.00
CSMSU Plastic Surgery (749)   £642.21   £986.67   £289.07   -55%   121   £2.39     CSMSU Pre-Hospital Emergency Medicine (744)   £99.55   £240.00   £168.53   69%   40   £4.21     CSMSU Rugby (671)   £5,515.50   £10,043.73   £4,936.78   -10%   57   £86.61     CSMSU SEM Soc (739)   £0.00   £260.00   £143.35   140   £1.02     CSMSU Squash (675)   £0.00   £1,597.91   £1,122.03   24   £46.75     CSMSU Surgical Soc (699)   £1,037.38   £1,555.52   £954.55   -8%   397   £2.40     CSMSU TeddyBear Hospital (737)   £415.47   £686.62   £171.90   -59%   90   £1.91     CSMSU Tennis (669)   £4,234.99   £5,720.50   £4,016.85   -5%   86   £46.71     CSMSU Water Polo (676)   £3,972.51   £5,439.98   £3,819.88   -4%   75   £50.93     CSMSU Weights & Fitness (689)   £0.00   £5,539.61   £426.39   144   £2.96     CSMSU Womens Football (657)   £858.98   £1,539.00   £1,080.67   26%   25   £43.23     CSMSU Womens Hockey (666)   £3,903.32   £5,208.51   £3,576.87   -8%   56   £63.87     CSMSU Yoga (686)   £551.03   £473.04   £332.16   -40%   26   £12.78     KNC Bioscience Review (489)   £0.00   £1,082.16   £0.00   £0.00     KNC Imperial Entrepreneurs (228)   £0.00   £387.97   £0.00   £0.00   563   £0.00     KNC Management (467)   £0.00   £150.00   £0.00   £0.00   563   £0.00	stetrics & Gynaecology	£313.09	£327.55	£177.34	-43%	63	£2.81	£3.00
ICSMSU Pre-Hospital Emergency   £99.55	ediatrics (716)	£538.67	£741.78	£240.75	-55%	207	£1.16	£3.00
Medicine (744)         £99.55         £240.00         £168.53         69%         40         £4.21           ICSMSU Rugby (671)         £5,515.50         £10,043.73         £4,936.78         -10%         57         £86.61           ICSMSU SEM Soc (739)         £0.00         £260.00         £143.35         140         £1.02           ICSMSU Squash (675)         £0.00         £1,597.91         £1,122.03         24         £46.75           ICSMSU Surgical Soc (699)         £1,037.38         £1,555.52         £954.55         -8%         397         £2.40           ICSMSU TeddyBear Hospital (737)         £415.47         £686.62         £171.90         -59%         90         £1.91           ICSMSU TeddyBear Hospital (737)         £415.47         £686.62         £171.90         -59%         90         £1.91           ICSMSU Water Polo (676)         £3,972.51         £5,439.98         £3,819.88         -4%         75         £50.93           ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32 <td></td> <td>£642.21</td> <td>£986.67</td> <td>£289.07</td> <td>-55%</td> <td>121</td> <td>£2.39</td> <td>£5.00</td>		£642.21	£986.67	£289.07	-55%	121	£2.39	£5.00
ICSMSU SEM Soc (739)         £0.00         £260.00         £143.35         140         £1.02           ICSMSU Squash (675)         £0.00         £1,597.91         £1,122.03         24         £46.75           ICSMSU Surgical Soc (699)         £1,037.38         £1,555.52         £954.55         -8%         397         £2.40           ICSMSU TeddyBear Hospital (737)         £415.47         £686.62         £171.90         -59%         90         £1.91           ICSMSU Tennis (669)         £4,234.99         £5,720.50         £4,016.85         -5%         86         £46.71           ICSMSU Water Polo (676)         £3,972.51         £5,439.98         £3,819.88         -4%         75         £50.93           ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Imperial Blockchain (488)         £0.0		£99.55	£240.00	£168.53	69%	40	£4.21	£3.00
ICSMSU Squash (675)         £0.00         £1,597.91         £1,122.03         24         £46.75           ICSMSU Surgical Soc (699)         £1,037.38         £1,555.52         £954.55         -8%         397         £2.40           ICSMSU TeddyBear Hospital (737)         £415.47         £686.62         £171.90         -59%         90         £1.91           ICSMSU Tennis (669)         £4,234.99         £5,720.50         £4,016.85         -5%         86         £46.71           ICSMSU Water Polo (676)         £3,972.51         £5,439.98         £3,819.88         -4%         75         £50.93           ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)	yby (671)	£5,515.50	£10,043.73	£4,936.78	-10%	57	£86.61	£80.00
ICSMSU Surgical Soc (699)         £1,037.38         £1,555.52         £954.55         -8%         397         £2.40           ICSMSU TeddyBear Hospital (737)         £415.47         £686.62         £171.90         -59%         90         £1.91           ICSMSU Tennis (669)         £4,234.99         £5,720.50         £4,016.85         -5%         86         £46.71           ICSMSU Water Polo (676)         £3,972.51         £5,439.98         £3,819.88         -4%         75         £50.93           ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)	M Soc (739)	£0.00	£260.00	£143.35		140	£1.02	£0.00
ICSMSU TeddyBear Hospital (737)         £415.47         £686.62         £171.90         -59%         90         £1.91           ICSMSU Tennis (669)         £4,234.99         £5,720.50         £4,016.85         -5%         86         £46.71           ICSMSU Water Polo (676)         £3,972.51         £5,439.98         £3,819.88         -4%         75         £50.93           ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         206         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £387.97         £0.00         636         £0.00           KNC Women in Business (786)         £0.00	ash (675)	£0.00	£1,597.91	£1,122.03		24	£46.75	£30.00
ICSMSU Tennis (669)         £4,234.99         £5,720.50         £4,016.85         -5%         86         £46.71           ICSMSU Water Polo (676)         £3,972.51         £5,439.98         £3,819.88         -4%         75         £50.93           ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         563         £0.00           KNC Women in Business (786)         £0.00         £150.00         £	gical Soc (699)	£1,037.38	£1,555.52	£954.55	-8%	397	£2.40	£3.00
ICSMSU Water Polo (676)         £3,972.51         £5,439.98         £3,819.88         -4%         75         £50.93           ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         563         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         563         £0.00	dyBear Hospital (737)	£415.47	£686.62	£171.90	-59%	90	£1.91	£5.00
ICSMSU Weights & Fitness (689)         £0.00         £5,539.61         £426.39         144         £2.96           ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         563         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         563         £0.00	nis (669)	£4,234.99	£5,720.50	£4,016.85	-5%	86	£46.71	£30.00
ICSMSU Womens Football (657)         £858.98         £1,539.00         £1,080.67         26%         25         £43.23           ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         187         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         £0.00         563         £0.00	ter Polo (676)	£3,972.51	£5,439.98	£3,819.88	-4%	75	£50.93	£40.00
ICSMSU Womens Hockey (666)         £3,903.32         £5,208.51         £3,576.87         -8%         56         £63.87           ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         187         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         563         £0.00	ghts & Fitness (689)	£0.00	£5,539.61	£426.39		144	£2.96	£45.00
ICSMSU Yoga (686)         £551.03         £473.04         £332.16         -40%         26         £12.78           KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         206         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         187         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         563         £0.00	mens Football (657)	£858.98	£1,539.00	£1,080.67	26%	25	£43.23	£55.00
KNC Bioscience Review (489)         £0.00         £1,082.16         £0.00         £0.00           KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         187         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         563         £0.00	mens Hockey (666)	£3,903.32	£5,208.51	£3,576.87	-8%	56	£63.87	£40.00
KNC Imperial Blockchain (488)         £0.00         £3,333.33         £0.00         368         £0.00           KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         636         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         187         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         563         £0.00	a (686)	£551.03	£473.04	£332.16	-40%	26	£12.78	£10.00
KNC Imperial Entrepreneurs (228)         £0.00         £2,000.00         £0.00         £0.00         £0.00           KNC Management (467)         £0.00         £387.97         £0.00         187         £0.00           KNC Women in Business (786)         £0.00         £150.00         £0.00         563         £0.00	nce Review (489)	£0.00	£1,082.16	£0.00		206	£0.00	£0.00
KNC Management (467)       £0.00       £387.97       £0.00       187       £0.00         KNC Women in Business (786)       £0.00       £150.00       £0.00       563       £0.00	Blockchain (488)	£0.00	£3,333.33	£0.00		368	£0.00	£0.00
KNC Women in Business (786) £0.00 £150.00 £0.00 £0.00	Entrepreneurs (228)	£0.00	£2,000.00	£0.00		636	£0.00	£0.00
	ement (467)	£0.00	£387.97	£0.00		187	£0.00	£0.00
KND Debating (225) £642.22 £8,545.95 £1,630.37 154% 38 £42.90	in Business (786)	£0.00	£150.00	£0.00		563	£0.00	£0.00
	g (225)	£642.22	£8,545.95	£1,630.37	154%	38	£42.90	£10.00
KND Kinky Klub (186) £0.00 £1,083.33 £0.00 166 £0.00	lub (186)	£0.00	£1,083.33	£0.00		166	£0.00	£0.00
KND Model United Nations (276) £427.88 £525.00 £368.64 -14% 20 £18.43	United Nations (276)	£427.88	£525.00	£368.64	-14%	20	£18.43	£10.00
KND Sexpression (187) £137.12 £149.16 £73.32 -47% 20 £3.67	ssion (187)	£137.12	£149.16	£73.32	-47%	20	£3.67	£3.00
KNE Astro (637) £0.00 £4,248.75 £431.48 118 £3.66	37)	£0.00	£4,248.75	£431.48		118	£3.66	£5.00

KNE Computational Biology (213)	£0.00	£275.00	£0.00		86	£0.00	£3.00
KNE Environmental (227)	£273.61	£437.41	£223.57	-18%	64	£3.49	£3.00
KNE First Aid Society (125)	£0.00	£150.00	£0.00		51	£0.00	£10.00
KNE Sign Language (464)	£96.33	£305.84	£205.98	114%	53	£3.89	£4.00
NAI 93% Club Imperial	£0.00	£156.25	£0.00		139	£0.00	£0.00
NAI AIESEC in Imperial	£0.00	£500.00	£0.00		92	£0.00	£0.00
NAI Believer's Loveworld	£0.00	£670.00	£0.00		31	£0.00	£0.00
NAI FinTech	£0.00	£1,583.33	£0.00		483	£0.00	£0.00
NAI Haematology Society	£0.00	£190.00	£0.00		228	£0.00	£0.00
NAI Moroccan	£0.00	£490.00	£0.00		45	£0.00	£0.00
NAI Prosthetics	£0.00	£2,743.00	£0.00		167	£0.00	£0.00
RCSU BioSoc (630)	£0.00	£3,800.00	£614.41		77	£7.98	£0.00
RCSU Maths (634)	£1,035.08	£2,650.00	£228.21	-78%	284	£0.80	£0.00
RCSU Synthetic Biology (738)	£0.00	£615.13	£375.60		319	£1.18	£0.00
REA Alternative Music (205)	£391.96	£437.50	£307.21	-22%	78	£3.94	£4.00
REA AnimeSoc (207)	£1,027.96	£1,030.72	£270.12	-74%	156	£1.73	£4.00
REA ArtSoc (209)	£953.32	£1,900.91	£1,334.79	40%	210	£6.36	£5.00
REA Baking (463)	£0.00	£1,210.00	£424.82		504	£0.84	£0.00
REA Book Club (297)	£594.06	£1,293.00	£661.46	11%	162	£4.08	£5.00
REA DogSoc (427)	£257.08	£1,069.50	£244.08	-5%	150	£1.63	£3.00
REA Rock and Metal (265)	£0.00	£400.00	£280.87		80	£3.51	£0.00
REA SCC Film (232)	£0.00	£676.25	£440.45		73	£6.03	£6.00
REA Sci Fi (266)	£424.80	£1,200.00	£421.32	-1%	68	£6.20	£8.00
REA Sea Shanty (188)	£0.00	£158.00	£110.94		103	£1.08	£0.00
REA Tea Society (296)	£208.73	£400.00	£160.45	-23%	49	£3.27	£5.00
REA VegSoc (453)	£0.00	£478.13	£0.00		44	£0.00	£3.00
REE Canoe (105)	£6,869.49	£12,981.15	£6,731.03	-2%	54	£124.65	£40.00
REE Caving (106)	£7,224.83	£12,191.06	£7,412.45	3%	56	£132.37	£30.00
REE Fellwanderers (110)	£3,552.38	£6,592.24	£3,240.26	-9%	278	£11.66	£14.00
REE Gliding (112)	£10,899.83	£20,210.05	£10,021.39	-8%	93	£107.76	£50.00
REE Outdoor Club (120)	£3,595.26	£4,835.27	£2,543.71	-29%	91	£27.95	£25.00
REE Pilots (166)	£4,644.52	£9,910.50	£3,165.09	-32%	72	£43.96	£15.00

REE RCC Mountaineering (116)	£4,877.77	£5,740.41	£3,764.57	-23%	241	£15.62	£20.00
REE Skydiving (117)	£3,611.05	£6,072.50	£2,999.04	-17%	62	£48.37	£10.00
REE Surfing (685)	£5,889.59	£7,551.76	£4,256.87	-28%	112	£38.01	£20.00
REE Underwater (126)	£10,037.23	£15,087.85	£9,444.01	-6%	61	£154.82	£45.00
REE Wakeboarding (137)	£976.50	£4,918.75	£1,076.68	10%	26	£41.41	£25.00
REG Bridge (103)	£0.00	£124.17	£43.60		22	£1.98	£5.00
REG Gaming and Esports (178)	£265.59	£416.67	£93.62	-65%	94	£1.00	£5.00
REG KnitSock (157)	£414.77	£1,040.00	£567.36	37%	187	£3.03	£4.00
REG Origami (119)	£0.00	£63.34	£44.47		30	£1.48	£3.00
REG Poker (142)	£0.00	£180.00	£0.00		111	£0.00	£5.00
REG Quiz (475)	£385.02	£1,996.00	£304.47	-21%	64	£4.76	£4.00
REG RCC Chess (107)	£437.68	£696.00	£193.80	-56%	86	£2.25	£5.00
REG RCC Yoga (130)	£1,828.75	£3,067.33	£1,560.96	-15%	144	£10.84	£8.00
REG Skate (124)	£1,013.18	£2,619.75	£1,175.17	16%	90	£13.06	£13.00
REG Snooker & Pool (102)	£2,256.04	£7,509.39	£1,640.26	-27%	124	£13.23	£25.00
REG Tabletop Gaming (128)	£260.17	£352.08	£144.82	-44%	97	£1.49	£5.00
RSM Badminton (626)	£699.70	£1,251.08	£717.89	3%	30	£23.93	£18.00
RSM Football (651)	£1,035.72	£2,310.17	£1,265.81	22%	35	£36.17	£40.00
RSM Geology (647)	£762.66	£2,930.00	£2,006.85	163%	12	£167.24	£3.00
RSM Geophys Soc (654)	£0.00	£563.32	£0.00		58	£0.00	£0.00
RSM Hockey (652)	£1,197.72	£2,758.49	£985.87	-18%	26	£37.92	£25.00
RSM Materials (646)	£0.00	£2,045.84	£1,375.70		39	£35.27	£0.00
RSM Netball (644)	£481.13	£1,315.68	£909.94	89%	29	£31.38	£15.00
RSM Tennis (076)	£0.00	£500.00	£228.21		102	£2.24	£0.00
SPC ACC Netball (018)	£6,927.10	£8,732.31	£4,967.11	-28%	55	£90.31	£21.00
SPC ACC Volleyball (031)	£8,981.00	£24,583.50	£15,620.58	74%	250	£62.48	£5.00
SPC Basketball (004)	£9,812.44	£14,037.60	£8,055.56	-18%	181	£44.51	£10.00
SPC Cheerleading (147)	£5,293.55	£6,944.32	£3,563.66	-33%	39	£91.38	£30.00
SPC Dodgeball (063)	£4,305.87	£8,363.35	£5,812.04	35%	97	£59.92	£5.00
SPC Floorball (158)	£778.70	£2,624.16	£0.00	-100%	12	£0.00	£30.00
SPC Handball (060)	£3,498.33	£6,539.43	£3,757.86	7%	39	£96.36	£25.00
SPC Ice Hockey (134)	£5,779.46	£15,390.77	£7,887.93	36%	39	£202.25	£20.00

SPC Padel (041)	£0.00	£3,371.50	£2,290.15		71	£32.26	£40.00
SPC Squash (027)	£4,209.10	£6,811.18	£4,329.28	3%	67	£64.62	£40.00
SPC Swim/Waterpolo (028)	£12,160.17	£19,538.78	£13,719.81	13%	91	£150.77	£100.00
SPC Synchronized Swimming (150)	£0.00	£1,835.64	£0.00		10	£0.00	£20.00
SPF ACC Hockey (012)	£11,767.83	£18,694.17	£11,522.87	-2%	126	£91.45	£45.00
SPF ACC Rugby (021)	£8,225.07	£10,499.87	£6,892.65	-16%	66	£104.43	£80.00
SPF ACC Sailing (023)	£6,066.62	£12,320.00	£5,055.19	-17%	93	£54.36	£5.00
SPF ACC Womens Rugby (022)	£3,368.80	£4,157.65	£2,206.01	-35%	26	£84.85	£80.00
SPF American Football (059)	£3,213.03	£7,226.33	£4,024.55	25%	30	£134.15	£80.00
SPF Baseball (065)	£820.05	£1,130.60	£384.37	-53%	37	£10.39	£20.00
SPF Cricket (007)	£7,033.88	£17,387.72	£10,124.66	44%	136	£74.45	£50.00
SPF Football (001)	£11,284.34	£17,889.50	£11,557.65	2%	152	£76.04	£65.00
SPF Ultimate Frisbee (035)	£5,057.69	£9,231.36	£3,620.22	-28%	61	£59.35	£10.00
SPF Womens Football (002)	£6,489.59	£10,389.33	£5,646.58	-13%	80	£70.58	£65.00
SPF Yacht (034)	£6,160.08	£11,879.50	£7,268.30	18%	90	£80.76	£5.00
SPI ACC Golf (011)	£1,055.66	£8,194.41	£2,574.90	144%	59	£43.64	£25.00
SPI ACC Lawn Tennis (017)	£11,132.40	£21,455.23	£6,900.80	-38%	183	£37.71	£40.00
SPI ACC Table Tennis (029)	£3,386.81	£6,036.32	£2,959.06	-13%	89	£33.25	£35.00
SPI Archery (046)	£4,378.85	£5,717.98	£3,693.85	-16%	114	£32.40	£55.00
SPI Badminton (003)	£6,226.72	£19,352.68	£6,121.34	-2%	187	£32.73	£65.00
SPI Barbell (073)	£6,374.11	£12,306.66	£6,923.08	9%	97	£71.37	£5.00
SPI Boat (006)	£8,006.58	£14,615.23	£9,560.42	19%	102	£93.73	£42.00
SPI Cross Country (008)	£5,026.08	£8,779.68	£4,626.05	-8%	147	£31.47	£35.00
SPI Cycling (009)	£1,681.91	£1,621.99	£1,010.87	-40%	36	£28.08	£10.00
SPI Fencing (010)	£6,172.92	£11,424.45	£6,958.97	13%	73	£95.33	£80.00
SPI Parkour, Free Running & Gymnastics (151)	£6,857.97	£9,239.54	£4,910.38	-28%	68	£72.21	£25.00
SPI Pole & Aerial (165)	£3,865.43	£9,756.71	£3,834.92	-1%	78	£49.17	£10.00
SPI Riding & Polo (039)	£2,998.41	£9,337.51	£0.00	-100%	19	£0.00	£40.00
SPI Rifle & Pistol (020)	£4,867.01	£8,801.83	£5,317.95	9%	149	£35.69	£10.00
SPI Snowsports (025)	£3,612.58	£5,577.99	£2,887.01	-20%	345	£8.37	£15.00
SPI Triathlon (067)	£2,351.14	£5,006.90	£3,515.76	50%	70	£50.23	£25.00
SPM Boxing (066)	£6,706.51	£8,451.60	£5,934.58	-12%	185	£32.08	£15.00
J (/	,		,	, ,			

SPM Judo (014)	£1,670.18	£3,236.70	£1,663.24	0%	53	£31.38	£3.00
SPM Ju-Jitsu (013)	£1,492.60	£1,562.14	£1,031.60	-31%	66	£15.63	£3.00
SPM Kabaddi (070)	£317.11	£493.34	£0.00	-100%	22	£0.00	£3.00
SPM Kendo (038)	£1,164.84	£1,451.01	£1,011.15	-13%	39	£25.93	£15.00
SPM Krav Maga (072)	£1,262.09	£3,924.53	£1,959.08	55%	67	£29.24	£3.00
SPM Kung Fu (016)	£954.86	£2,430.77	£911.64	-5%	12	£75.97	£3.00
SPM Muay Thai (051)	£401.39	£2,445.45	£1,226.95	206%	222	£5.53	£3.00
SPM Shorinji Kempo (040)	£764.26	£1,063.60	£0.00	-100%	21	£0.00	£25.00
SPM Tae Kwon Do (052)	£2,302.13	£4,692.03	£1,647.32	-28%	48	£34.32	£20.00
SPM Wing Chun (033)	£501.50	£900.00	£315.98	-37%	20	£15.80	£5.00
SPM Wushu (045)	£0.00	£374.00	£0.00		6	£0.00	£0.00